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Between the grapevines' — PP O2

OVERVIEW

X217 permitted to drink the jugs of wine which were found °X917 °2. The X913
initially assumed that X271 disagrees with n"9 and maintains that X %7 21921 210
2 pa. Therefore, even though the majority of the populace is 0131, nevertheless
since it was found >X21p *2 (which belonged to a Y% w”), we follow the 211p.2 Our
moon offers an alternate explanation.
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The Ty explained that %92 "2 is a place, as the X1 states, “9979% 29
accompanied SR 93 52 29 to X2 52’ —

nooIn responds to an anticipated difficulty:?
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And it was found in such a manner that it was a 1217 Xa9p.

SUMMARY
*XDIP "2 could be a place, and it was found in manner that it is a 7217 X27p.

THINKING IT OVER
Why was it necessary for '01n to cite the T7wn "5 (which has somewhat of a
difficulty),” why not accept >"w19?!

!'See »an"7>"wN.

2 [The X3 rejects this assumption.] According to >"w99 this is a 7217 X3P since it was found in the vineyard of a
%W, However, if it would not be a 517 83117, we could not say that X327 would follow the 217p, since by a ®2a71p
oW X927 all agree that we follow the 211. See 217 77"7 2,30 'o1n (TIE footnote # 18).

3 According to the 717w "0 how is finding the wine in *X23p »2 considered a M%7 X277p, so that we can even entertain
the thought that X237 follows 217p against 217. See footnote # 2. See “Thinking it over’.

4 Perhaps it was (also) found in a s">Xw” vineyard in X917 *2 (or something similar which indicated that it belongs to
a HRW).

5 See footnote # 3.
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